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When ceemomic principles are developed from
lactual evidence, this method of economic
reasoning is called

A descriplive econamics:

B deduction.

C  hypothesis lesting.

D induction.

Question 2 it based on tahle 1, showing the
production possibility situation of a eonntry,

Tahble 1
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Il this sconomy chooses the combination of
goods at Pt A,
A only capital goods are bring produced.
B all resourees in the coonomy are used in
the produciion of capital goods,
C  all resources arc uzed i the production
of consumer goods,
[ no capital goods are used as factors of
production.

Acmiarkel economy can result o
A produetion jonoring externalitiss,
B production nol satisfying consumers® (eal
Wwatils.
C  shortages and surpluses of products.
¥ reduced mesmtives lowering idividual
effort.

i

2x/T25/B/MCQ

Which of the following will likely trigger a
mwve from 4 command economy to a market
ecanomy Y
A Ineqguitable redistribution of income.
B lnflation resulting from the removal of
price controls,
O Low qualily goods leading to low living
standards.
D Industrial unrest with frequent conflicls
hetwzen workers and employers,

A security whose marke! price i1s the same as
its nontinal value is said to be

A dl par.

B wequilibriam,

C &t zerorate.

I af premium;

&, It the quantity of all Taclurs used na
production process inereased by 1086 and
production rose by 15%. thers arc

A decreasing relurns to scale.
B inereasing returns to scale.
€ decrensing returns to 4 varizble factor
[0 increasing returns Lo variable factor.

i Providence and Son’s Enterprise has a Capital
structure composed of;

Debentures = 40 millivms FCFA
Preference shares = 0 mllion FCFA
IF the company is lowly geared, the figure for
ity ordinary share capital might be

A 20 pullion FCFA,

B - 400 million TCEA,

C 40 million FCEA.

D 20 million TCRA.

8. If an industry remains in an area long after the
tactors that attracted it have disappeared, this
Ig known uy

A industoal locaton.

B natural location advantase.

C industrial increia.

13 reyional location advantages.
Consider the following stalistics as data for
guestion ¥;

‘Total population = 100 million people
Birth ratc = 3 perthousand
Matural growlh rate= 2 per thousand

. The number of deaths in this population is

A 200,000 peaple,
B 3,000,000 peuple.
2000000 people.
D 300,000 pcaple.

11, An ageing population will rusult in
A an increase in labour mobility,
B areduetion in transfar payments.
C an increase in the dependent poapulation.
D aconstant pattern of consumption.
11 Under which of the lisllowing circumstances

would an increase n the price of good X result
in a fall in the demand for good Y7 '
A Good X and good Y are substiwles,
B Good X and good ¥ are complements.
 Good X and geod Y are both income
Inelastic.
1D Good X is a normal good and good Y is
an inferior good,

G on to the next page



https://www.edukamer .info/

Duestion 12 is based on figure 1 below.

Y : 5
Biico Figure 1
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ITthe poverument of a country fixes

suaranteed minimum price of P, the sffect

wonld be il

A povernment would have o purchase
quaritily X5 ul price P,

B price would he foreed down towards the
eguilibrium,

€ there would be excess supply of Y 2.

0 there would he ashortage of K2

A given industry supplies_ 3.000 umits of o
per month at & price 6f 4} FCEA per umit. If

the price elasticity of supply 54, hany many

vmils will tis Grm supply if'the price rses to

b BECFAY
A 5200 units,
B 3,600 umls
0 5,000 pnits,
I 6 it

Gitveria market demand curve O = |24 - 2P

and supply curve O =4 P where P repiresents

price, the equilibriung quantity-and price arc
A B and 20

B 120and 30

7 2 wned [l

D 60 and A0

A oshill of 3 demand corve to the left could be
caused by

A the imposition of a tax an the pood by the

wovermment,

B achange of consamers’ tastes in faveur
ul'a substiluic.
a fall in the prive of @ complemantary
wood,
[ areduction in the price of the pood,

£

5
2

16.

If a nationalised industry, adopts the marginal
costs pricing policy [orits services when its
averaze cost 8 declining, it will likely

A maken loss.

B break even.

€ make a profit

[} nob require state subvention.

A firm which amms at growitl maximisulivn
showilid produce at the output level where
A AR=MC

B ME=MC
AR AC
1y MBE=dete

Ciestion 18 is based on [uuie 2 below, illustrating
perfect price discrimination sftuation.

. Figure 2
Cionte 8 AL
Revenlie :

i

AR

1 ]
Chuantity

{ X YL

The trizngle PADR dezeribes
consumer surplus,
commumity sorplis.
extra cost incuired.
exkm revenue gained.

[ gl oy o e

When consumers buy in the cheaper markets
and scll in more cxpengive markets, (his s
kniowwm as =

A resale price maintenance.

B secpams

O ptice dizerimination.

¥ penctraling pricing.

20

Firms in oligopoly are interdependent becanse

A they preduce differentiated products,

B cachfirm isa price maker.

C the behaviowr of one lirm will be
influenced by the behaviour o its sivals,

I the behaviour ot cne fiem depends on iy
abilily 1o use non price competition.

Turn Over

2arT2EIBAED



https://www.edukamer .info/

il
o The follawing statistios relate to an antomohile Chestion 26 1s based on table 2. which shows
firm that bas sold by cacs, (Flouces are in infurmation about a country m 2008 and 2009,
millions 'CEA). Table 2
g:ﬁ :J;ISELE::.JE?LM :]l [;‘_: Year | Population L7 ik GIIF Ticflator
‘ : Z (millions) | (billions | (2005 indea=100)
Tatal s?ﬁeg revenue . EEI' FCTA)
e 12 Pl o [ —m
2009 230 480 121
IT the firm daclares a rate of profit of 0%, i : T -
e " 2 4 = g = 26, I'he real GDP per capita in 2009 1s
:::;t}l method of measuring profil has buen A 1600 FCFA.
A Prolitus a percentage on turnaver, b 4,000 FCEA.
Sl ¢ 2,000 FCTA.
B Profit as a return on capital employed. B T‘J"ﬂ ol
C.  Trofit as a gross margin perceniage. e :
B iPrehbes pargaeniGRtUANERR ol Which ol the ullowing would mest likely be
30 Normal profil i il1|.‘:"|..l:if:|:l| in the measuremcit of Gross
A the positive difference between total Rumestic Fraduct?
Ed R e ot vt A The L‘ll:ltr‘il..lt of second-hand goods.
B the level of reward whete MR = M. D Intermediatc salcs,
G the level ol rewaed where AR = AC, L2 SRR S apuRe.
T}  the average reward made by a fitm. ¥ Sucial security benefits.
23.  Given that the market rate of intorest is 15%. 28, Ifthe MPCina F'm_‘:mﬁr Gt A 0.5
What is the market price of a bond (hal pays and the government increases 1is
18,000 FCEA miterest! expenditure by 1,000 million FCTFA, by
A 150,000 FCEA, : how much will national income imereasc?
B 120000 FCFA. A 1,000 million TCT AL
C 30,000 FCEA. : R 2,000 million BECFA.
D 100,000 FCEA C 3,000 million TCTA,
= i 500 million FCTA.
24, The wmerket value of all goods and services
produced by a country' s resources regardless 24, I = LS00 million FCEA + U,8Y (where C=
of where the resources are loculed 1s < consumpticn and Y = income) and intended
A Nel National Product, investment 15 300 million TCFA. then the
B Gross National Product. equilibrium level of national income 8
(. ational Income. A 20,000 millien FCFA
13 Gross Domestic Produet, B 24,000 millicn FCFA.
" ] ¢ 15,000 million FCFA,
25, Why are adjustments made for financial D 13,000 million FCFA.

services in the oulpul method of measuring
matinnal income?
A To eliminate the cffcetl of stoch
appreelation
B Toroccord all the interest padd by
Bnancial mstlulions.
¢ Taavoid double counting of interest paid
arid received by fimancial mstiulions,
[ To make adjustments for residual error.

2x/725/BMC0D Go on to the next page
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39. Which of the fullowing statements concoming
the crreular flow of incomeis true?

A The factors ol production are owiied by
househaolds.

B The factors of production are owned by
firms.

. Only interactions in the produet market
reflect the value of national mcome.

D Dualy intersetions inthe faetor market
tellect the value of national income.

3l. Saving inan coonomy 18 equal to
A saving by [irms + saving by hemseholds,
B G- sovernment purchases,
L private saving + public saving.
I tetal final axpenditure - consumption

expenditure,

e |
T

The value of the muitiplicr can fall becanse of
A anincrease in the marginal propensity o
import.
B afallin the margmal propensity o save
{ anincreass in export
DY an increase in goverimenl spending on
gonds and scrvices.

Question 33 is based on table 3, showing the

T-aceount for a hypothetical commereial bank.

The figures wre n million FCT A,

_ Tablem
| Liabilities Azpats
Dreposit 1,000 | Cash g |
Luoans Qo0
1.000 1000

3. What s lhe masimem amount of deposit this
hank can make?
A BIU million IICTA.
B 1000 million TCFA.
C 9000 milliovn FCEA.
D 10,000 miliion ECFA,

34, In chopsing a commodity to s¢rve s money,
the most important characteristic must be that
il in
A easily recoipmived,
B portabls.
. durable.
13 gencrally acceptabla.

Ouestion 35 is based on table 4 below.

Table 4

Commodity | Expenditure | Price | Price
2003 index | index

(FCFA) 2005 | 2007

Dirinks 200 | O 1500

Huttrsitnz 300 100 [ Kb

| Food Si) | 100 120

3. I'he calenlation of the weighted price index

sliows thiat between 2005 and 2007, the general
price level rose by

A 50%,
B 16.6%, . L5

C o 14%. 2%
D 5% '

6. A regressivetax can best be described as one
which
A increases with income,
B imposcs a greater burden on the poor.
C  redistriburcs income in favour ol the
poor.
D  deercases proportionately with incomie.

a The hypothetical figures of a country’s
national debt are as [ollows:
Mationzb debt 1,400 million FECFA
Extemmal debt  S60 million FOUEA
Internal debt 840 million FCEA

Whal percentage of the natinnal dehi
constitutes a real burden?

A 60 %,
. B4t
C 66 %.
1D 66.6%.
38 What ux;-jre.x:sinn is used to deseribe a situation

where anew loan 1s centracted to pay off the
existing one to reduce interest rate?

A Reflinmancing a debr.

B Redesming a dehi.

C  RKe-marketing a deli

D Replacing a debt.

34, Inyear 1, a country’s visible imports totalled
1.0G0 billion FCFA and its balanee of trade
was 300 hillion FCFA. Tn year 2, ils visible
mports fell in value by 4 per cent. The balance
of trade in year 2 was

A L300 billion TCEA.
It 540 billian FOIA,
C 2500 hilhiem HOCFA.
D 860 billion FCFA,

Tum Chver

I/ T2 5 IBIMEC
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44, W hich of the fol lowing peonle wonld be
pleased by a devaluation of the FCFA
everything being equal?

A A Camervonian tourist travelling to
Europe.

B A Cameroonian importer of Japanese
cars.

> A Spanish exporter of wine lo Cameroot,

[> A German importer of Cameroon wood.

il The adverse movement in the terms of frade

means (hal

A the volume of exports has fallen relative
1o the volmne of impors.

B the wial value of cxpaorts has fallen
ralalive W the wotal yalue ol pocts.

C  the averaye price of exparls has fallen
relative to the average price of imports.

I» the average price of imports has fallen
relative to the average prve of exports,

12 Arbilraze is the proeess where

A exchanyge rates througshowt the warld are
in equilibrinm:

B bills el exchange are discounted.

C  the central bank nlervenes in the
eachange market,

[3  currencies are boushl m one centre and
immediately sold in another at a profit.

43. [he mevement fronl any point inside o a point
an the production possibilities curve is lermed

A actual growth.

B potential arowth,

{7 economic development
I economic growth.

44, Wihon & countey increases the stock of capital
per worker, inercasmg labour productivity, this
is called

A capital consumption.
B capital aceumulation,
C  capital despening,
13 capital widening,
45 A reeession ag 4 phase of a business cycle is

characterized by
A andnorcazo in investment.
B falling government expenditisre on
benefits.
(! inoreasing inllalionary pressures,
3 inereasing stocks of unsold goods.

272 EIBINMOG

46. When the real source of money, which may be
trom illegal sources, is hidden, this is
deseribed as

A money umderng.
B ot niohey.

C capital flight

I black moncy marxct:

47. When production is carried ool on the basis of
the order placed by the customers, this is
known as

& hatch production.

B job production.

C flow produetivn.

N How-line production.

48, The systematic procedure laid down by
managsment concerning ordering, reecving,
recording, isswing and accounting for stocks 15
[erornem as

A purchasing eontrol.
B stock contral

¢ production contral.
D guality camtrol,

49, I'he best channel of distuibution of a perishable

guod iE
A wholzsalers to consumers.
B wholesnlers io retailers then to
CONSUMErs.
C direct sales 1o consumers.
D retailers 1o consumers.
0. A machine which lias & life span ol 2 yoars

yields an annual income of 121,000 FCFA, It it
costs 200,000 FCTA Lo bus it and the eurrent
rate of interest is 10 %o, what 15 the net present
value!

A& 20,000 FCEA,
1 10,000 FCFA
C 79,000 FCEA,
[ 42,000 FCFA,

sTOP

NOW GO BACK AND CHECK YOUR WORK
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